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SERMDWESRIEE

Gl 2 it =
Fa | @ o® HFLE mge | Foa | mme | zxe
b aTES (F) (a) (A1) (A) (/) (kg) (M)
- 541|  15,535.9 785,030,000] 18,104,859 — — —
578| 16, 665. 8 786,980, 000| 20, 483, 441 106 140, 673| 34,808, 600
_ 10 105. 1 4, 290, 000 77,507  — — —
j’ ’ ’ )

M7 INI AR 12 137.5 5. 160, 000 113,121 1 451 65, 800
- 8 151. 1 5, 030, 000 88,990 — — —

AL ER 3P 10 171.3 6. 260, 000 93, 284 2 794 105, 700
o = 559|  15,792. 1 794,350,000| 18,271,356 — — —
= F 600| 16,9746 798, 400, 000| 20, 689, 846 109 141,918| 34,980, 100
s _ — — — R3
> 185 259, 210| 64,826,800

STETELE 93. 2% 93. 0% 99. 5% 88.3% 58.9% 54. 8% 54. 0%

()—a  FABRBWLE— & [5E35) _
) 21%: F =R FH-RAEE SEMOBEILRIEE
HH 3| 2 m =
Fy | @ ® e gige | 7 x| mes | xwe
X4 (F) (a) (M) (M) (F) (kg) (M)
- 344| 10,4230 596,790,000| 13,834, 140| — — —
371|  11.115.9 583.000,000| 14, 468, 821 83| 110, 160| 31,569,700
) 7 70. 1 3, 170, 000 52,726] — — —
S . , 170, ,

M7 NI AR 7 71. 1 2. 970, 000 55, 923 1 451 65, 800
- 7 133. 1 4,810, 000 81,434 — — —

AL ER 3P 9 153. 3 6. 050, 000 84,017 2 794 105, 700
~ = 358] 10, 626. 2 604, 770,000| 13,968, 300] — — —
I 387|  11.340.3 592, 020,000| 14, 608. 761 86| 111,405| 31,741,200
s _ — — — 73
> 138] 189, 963] 55,683, 100

XA L 92. 5% 93. 7% 102. 2% 95.6% 62.3% 58. 6% 57. 0%
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5|5 . L ER=RSEEE/ T EB=RAEREE

1
AH 3| 2 %& =
Fa | @ o® #FLE mpe | Fa | mwe | zwe

b aTES (F) (a) (A1) (H) (/) (kg) (M)

_ 133 4,011.9 162, 150, 000 3,334,021 — — —
R P 140|  4,305.7 171, 200, 000 4. 593, 150 6 7,700 947, 300

_ 2 15.0 700, 000 8,006 — — —
j’ ’ b

BT INI AR 4 46. 4 1, 770. 000 31, 465 0 0 0
&0 = o 0 0.0 0 0 — _ _

AL ER 3P 0 0.0 0 0 0 0 0
o = 135 4,026.9 162, 850, 000 3,342, 02711 — — —
= F 144 43521 172, 970, 000 4,624, 615 6 7,700 947, 300
s _ — — — R3
> 27| 38,387 5,889,300

STETELE 93. 8% 92. 5% 94. 1% 72.3%  22.2% 20. 1% 16. 1%
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) 21%: F =R/ FH-RAEE SEMOBEIZRIEE
HH 3| 2 m =
Fy | @ ® #FRIE e | 7o | mmE | x#e
X4 (F) (a) (M) (M) (F) (kg) (M)
_ 24 381.0 9, 880, 000 468, 155] — — —
TR 24 393. 2 10, 690. 000 695, 177 5 3,944 661, 000
) | 20.0 420, 000 16,775 — — —
j . ) )

BT INI AR 1 20. 0 420, 000 25, 733 0 0 0
- 0 0.0 0 o — — —

AL ER 3P 0 0.0 0 0 0 0 0
~ = 25 401.0 10, 300, 000 484,930 — — —
I 25 413.2 11, 110. 000 720, 910 5 3,944 661, 000

73
% — _ — —
il 7 6,936| 1,041,600

XA L 100. 0% 97. 0% 92. 7% 67.3%  71.4% 56. 9% 63. 5%
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HH 3| 2 %& =
B & m & HESE gz F & | BRE HES
S AsiE (F) (a) (M) (1) (7) (kg) (M)
_ 40 720. 0 16, 210, 000 468,543 — —
R P 43 851.0 22, 090, 000 726, 293 12 18, 869| 1,630, 600
e 1 18.0 220, 000 7,556 — —
AL ER 3P 1 18.0 210, 000 9, 267 0 0 0
A o 41 738.0 16, 430, 000 476,099 — —
B oA 44 869. 0 22, 300, 000 735, 560 12 18,869| 1,630, 600
sE _ _ . o R3
= 13 23,924 2,212,800
STETELE 93. 2% 84. 9% 73. 7% 64. 7%  92.3% 78. 9% 73. 7%




